Vocabulary review: 

1. f
2. a

3. g

4. c

5. d

6. h

7. j

8. i

9. e

10. k

11. b

Concept Review: 

1. velocity

2. position

3. chemical

4. conservation of energy

5. calorie

6. N/A

7. friction

8. constant

9. GPE

10. Kinetic

11. 2450J
12. 100J (98J)
13. The hammer would have 2 times the height and would have more potential energy as a result when it falls, it will have more kinetic energy. The overall mechanical energy will not change. 

14. Less air friction means less fuel must be burned to reach highway speeds. 

Testing Concepts

15. (1-15 Testing concepts)  
16. B

17. D

18. A

19. D

20. B

21. C

22. A

23. B

24. D

25. C
Understanding concepts: 

1. 10 x 1.5 x 10 = 150J

2. .5 x 10kg x (10m/s2)2  = 1500J
Applying concepts: 

4. 200kg x 10 m/s2 x 10m = ½ (200kg) v2  


=14.14 m/s2
